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Question Number : 51 Question Id : 40503611806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A survey shows that 73% of the persons
working in an office like coffee, whereas
65% like tea. If x denotes the percentage of

them, who like both coffee and tea, then x
cannot be :

Options :
40503642731, 8

40503642732, 24
40503642733, 63

40503642734, 36

Question Number : 51 Question Id : 40503611806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 )
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Options :

40503642731, 8

40503642732, >4
40503642733, 63

40503642734, 36

Question Number : 52 Question Id : 40503611807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the four complex numbers z, i
z —2Re(z ) and z—2Re(z) represent the
vertices of a square of side 4 units in the
Argand plane, then |z| is equal to:

Options :

40503642735, N2

40503642736, 2

25

40503642737.

40503642738. =

Question Number : 52 Question Id : 40503611807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Ontion

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 gw”eged“"'a



afg srfe q@ ¥, 9% wiwg T 2, 7,
7 —2Re(7) T z—2Re(z), 4 THE Yl &
S 71 F it 1 Frefaa @ €, 2| e
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Options :

l\1|

40503642735, N2

40503642736, 2

28

40503642737.

40503642738. 4

Question Number : 53 Question Id : 40503611808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The product of the roots of the equation
.912 18|x| +5=(), 18 :
Options :
25
40503642739, ¢

S
40503642740, 27

40503642741, 9

40503642742.

Question Number : 53 Question Id : 40503611808 Question Type : MCQ Option Shuffling gcollegeduniaz
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option =~ ™ 0150171 i "
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503642739.

40503642740, 27

olu

40503642741.

25

40503642742, O1

Question Number : 54 Question Id : 40503611809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the minimum and the maximum values

™ T
of the function /f: Fry —?ergﬁmdb}r
sinZ0 —1-sinZ0 1
f(0) = |-cos?0 —1-cos?0 1
12 10 2

are m and M respectively, then the ordered
pair (m, M) is equal to:

Options :

40503642743, (43
0, 242

40503642744, 0, 2+2)

40503642745, (—4,0)
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40503642746. ©4)

Question Number : 54 Question Id : 40503611809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sin?0 -1-sin?8 1
Ifz f(0) = |[-cos20 —1-cos?h 1
12 10 2

BRI ARIToe e IE%} — R & freram
A1 I=GH W FEAM: m 99 M T, 1 FiE
I (m, M]W%:

Options :

40503642743, (%)

(0, 242)
40503642744.

40503642745. (—4,0)

40503642746. ©4)

Question Number : 55 Question Id : 40503611810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A € R. The system of linear equations
2x)—4xy+Axy=1
Xy —6x,+x;=2
Ax; —10x, +4x,=3
is inconsistent for :
Options ; ¥ collegedunia

40503642747, “VETY value of A.



40503642748, exactly one positive value of A.

40503642749 exactly one negative value of A.

40503642750, ©xactly two values of A.

Question Number : 55 Question Id : 40503611810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
O A e R, I g fam
2x, — 4%, + A, =1
Xy —6x, +x;=2
A, —10x, +4x, =3
FHT %r .

Options :

40503642747, N F I A F fer

140503642748, N T T T HAIHE A * e |
40503642749, A T T U FHUIHF HH F o |

40503642750, ™ F A STHMT = Tefq |

Question Number : 56 Question Id : 40503611811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If 32sinZa—1 74 and 3%~ 2sm2a g6 the first
three terms of an A P. for some «, then the
sixth term of this A.P.is:

Options :

40503642751, 81 .
collegedunia

40503642752, 79



40503642753, 0

40503642754,

Question Number : 56 Question Id : 40503611811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

afe 8T o & fag 32sin2e-1 14 qoqq
34— 2sin2e s FHWR F91 F 99H §F T2 E, 1
9 TN 4% F B UE § ;

Options :

40503642751, 1
40503642752, /8
40503642753,

40503642754,

Question Number : 57 Question Id : 40503611812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

I
210.4.29-31 4+ 28.32 4 4+2:39430=5-21,
then 5 is equal to :

Options :

11
40503642755, 3

All
40503642756, 23

11 _ 12
40503642757, © 2

40503642758, 2

all
3 510
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Question Number : 57 Question Id : 40503611812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
afg
210 + 29314 28.32 4+ . +2:39+310=5_ 211,
WS TR T

Options :

111
40503642755. -

a1l
40503642756, 23

11 __»~12
40503642757, © 2

3 500
40503642758, 2

Question Number : 58 Question Id : 40503611813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If « is the positive root of the equation,

p(x)=x*—x—2=0, then

i gL = cos(p@)

r—raT X + o

is equal to :

Options :

1
-
40503642759. ~
1
40503642760. V2
" a gcqllegeduniai
2 \

40503642761, ™



M| w

40503642762.

Question Number : 58 Question Id : 40503611813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I o, HIHIW p(x) =22 —x—2=0 &1

1m."l — cos(p(x))

HATE A €, A lim

ot X4+toa-—4

T E
Options :

1

lj‘
40503642759. =

' g
40503642760. V2

'3
40503642761. E

3

2
40503642762. <

Question Number : 59 Question Id : 40503611814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the function
o
ki(x — )" l, x=
foy = [lale =

1s twice
[kzco:u, X >

differentiable, then the ordered pair (k T k 2]

is equal to :
gcollegedumas
Options : TS s s et -

40503642763, -



40503642764, (L' 1)

l"'.

40503642765.

40503642766, (V)

Question Number : 59 Question Id : 40503611814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i Fer
. = o
f@)= =) =1 x=a

| kycosx, x>
3 AR S 8, o FHHd 7 (k, k) TR
e

Options :

40503642763, -

40503642764, (L'1)

".

40503642765.

40503642766 (1 0)

Question Number : 60 Question Id : 40503611815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
r . " " gcollegedunias
If the point P on the curve, 4x=+5y==20 7 et :
is farthest from the point Q(0, —4), then
PQ?2is equal to :



Options :
40503642767.

40503642768, 29
40503642769, 2

40503642770, 48

Question Number : 60 Question Id : 40503611815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i 9% 4x2+5y>=20 W fag P, fag
Q(0, —4) T wfusad =it W 8, 91 PQ 2 =1
T

Options :
40503642767.

40503642768, 27

40503642769. <

40503642770, 48

Question Number : 61 Question Id : 40503611816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If J{sz H2e*—e ¥ l] e +e7) gy

= g(x) ale"te ) . where c is a constant

of integration, then g(0) is equal to :
Options : g collegedunia:

40503642771, © \

40503642772 2



40503642773, ©

2
40503642774, ©

Question Number : 61 Question Id : 40503611816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e jlleh r2e* —e™*-1) el ) g4y

— g(x)e® e Dyc ¥ R ¢ TH FHEHEH
R E, T g(0) TR T :
Options :

[

40503642771.

-2

40503642772.

m

40503642773.

[

40503642774, ©

Question Number : 62 Question Id : 40503611817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 _
SN X 15 :

The value of L

| -
[==1

|

Options :
3
2
40503642775. =
= gcqllegeduniai
5 d

40503642776.



4

40503642777.

40503642778, T

Question Number : 62 Question Id : 40503611817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

v o
2
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Options :

ol

40503642775.

S

40503642776.

| =

He

40503642777.

40503642778. ™

Question Number : 63 Question Id : 40503611818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If y=y(x) is the solution of the differential

. 3 4 DI d_y | C‘I s ['] . f s
equation y dx satisfying
y(0)=1, then a value of y(log,13) is :

Options :
40503642779. ;

40503642780, ~ 1
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40503642781, 0

40503642782, 2

Question Number : 63 Question Id : 40503611818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
" 5+e dy

= ST THE o Ea® =
s 2 +y dx ’
F1 T y=y(x) g, foams faw y0)=1 & @
y(log,13) F1 TF WM & :
Options :
40503642779,

40503642780, 1

40503642781, U

-2

40503642782.

Question Number : 64 Question Id : 40503611819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the common tangent to the parabolas,
l.r2 =4x and xz=-—ly also touches the circle,
Y ) 3 %
x-+y-=c-, thencisequal to:
Options :
1
40503642783, V2

I |t

40503642784 M collegeduniar

rl-'—*ull—-l-

40503642785.



40503642786.

1

2\"

3]

Question Number : 64 Question Id : 40503611819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

afe Waedl 2 =4y 791 x2=4y FH IS
I, T a2 + 12 =2 N+ oI A, 7l

c T T ;
Options :

40503642783.

40503642784.

40503642785.

40503642786.

1
2

I |t

,4:_~.|._..'

1
3]

Question Number : 65 Question Id : 40503611820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the co-ordinates of two points A and B
are fﬁ, 0) and f V7, U:' respectively and

Pis any point on the conic, Ox2 + lﬁyz =144,
then PA +PB is equal to :

Options :

40503642787.

40503642788.

16

6
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40503642789, °

40503642790, 8

Question Number : 65 Question Id : 40503611820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gfe <t fagaat A 991 B & fAdwn=
w8 (V7,0) @ (—7,0) ¥ sk wiwa

(conic) 9x2 + 16> =144 W Frs fag P g
PA + PB &R ¥ :
Options :

40503642787, 16
40503642788, ©
40503642789, °

40503642790, 8

Question Number : 66 Question Id : 40503611821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If (a, b, c) is the image of the point
(1,2, —3) in the line,

x+1 _ y—3 z
= = —  then a+b+c is
2 2 1

equal to :

Options :
40503642791, — 1

40503642792. :
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40503642793, 2

40503642794. 3

Question Number : 66 Question Id : 40503611821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e fag (1, 2, —3) %1 @

x+1 y-3 2 gpovan
= =J2 = — Hufafd @, b o ¥,

Wa+b+caTHE :
Options :

40503642791, —1

—

40503642792.

2

40503642793.

22

40503642794.

Question Number : 67 Question Id : 40503611822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the volume of a parallelopiped, whose
coterminus edges are given by the vectors

—

a=.f.|.)l:.|1"l:;(;, h=2.;'.l4f n.h.’ and

¢ = i+nj+3k (n=0), is 158 cu.units,
then :
Options :
40503642795, M= M collegeduniar

40503642796, N="1



— —%

40503642797, P ¢ = 10
c =17
40503642798.

Question Number : 67 Question Id : 40503611822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Ife TF T GRS, s uF & 9 g

ﬁﬁﬁﬁfﬁﬂﬁ{edgm]ﬂﬁ?ﬁ a =id ; I m.Tf,
b =2i+4j-nk WA ¢ = i+nj+3k
(n=0) R T2 71U ¥, =1 =119 158 5 Tehreal
&,

Options :

40503642795.

40503642796, N="9

40503642797, P ¢ =10
a-c =17
40503642798.

Question Number : 68 Question Id : 40503611823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The mean and variance of 7 observations
are 8 and 16, respectively. If five
observations are 2, 4, 10, 12, 14, then the
absolute difference of the remaining two
observations is :

Options :
40503642799. 1

gcollegedumaz
\\\\\ 's largest Student Review Platform



40503642800.

40503642801.

40503642802.

I~

(R

e

Question Number : 68 Question Id : 40503611823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

7 YOl ST A T HEI0 HHY: 8 TU116 2 |
Iffe o= o1 2, 4, 10, 12, 14 T, o 39 21 Teqoii
o1 FUe AT T

Options :
40503642799.

40503642800.

40503642801.

40503642802.

2

Question Number : 69 Question Id : 40503611824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If S is the sum of the first 10 terms of the

Series
: é

an

then tan(S) is equal to :

Options :

40503642803.

40503642804.

;:Il--tan_

[

2
6

10

11

1l|
r
)
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6
5

40503642805.
i

40503642806. =

Question Number : 69 Question Id : 40503611824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

: B 1 1

(5] T I
\3) 13 ) i 5

% 99 10 921 1 40T S €, 1 tan(S) T 2 :

| f
—1
+tan |

tan

=11
"\.

1

Options :
5
40503642803, ©
10
11
40503642804
6
5
40503642805,
i
11
40503642806.

Question Number : 70 Question Id : 40503611825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The negation of the Boolean expression

X <>~V is equivalent to: ——
co ege unias
Options : g\ ‘‘‘‘‘ B —— "

40503642807, ¥~ Y)V(~xAY)



40503642808, (X APV (~xn~y)

40503642809 XA WIA(-xv )

40503642810, XYV (A~ Y)

Question Number : 70 Question Id : 40503611825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Jol o Fed x>~y H AUy = H [
ol % HTed 22

Options :
40503642807, ¥/~ YV (=X Y)

40503642808, (X MYV (XA~ y)

40503642809 (X AW A(~xv ~y)

40503642810, FAYV(~xA~Y)

Sub-Section Number : 2
Sub-Section Id : 405036832
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503611826 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of words, with or without

meaning, that can be formed by taking

4 letters at a time from the letters of the

word ‘SYLLABUS' such that two letters are

distinct and two letters are alike, is

SN s gcollegedumaz
\\\\\ 's largest Student Review Platform

Response Type : Numeric -
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 71 Question Id : 40503611826 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

‘SYLLABUS 915 F #1570 § 4 Us 91 H 4
A T A S HeFA Al v, A4 Al
FAEA, T3 WK T 51 =1eq Torat &1 aon <1 312,
U HA @, W HenE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611827 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The natural number m, for which the

coelficient of x in the binomial ex pansion

Id E \22

1 1 . .
of | ¥ + —=| is1bdlis
\ X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 72 Question Id : 40503611827 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

i -
. e S ) m 1 =
xr + —
Al Hedl m, s [l = < ;
\ x-] collegedunia

fETe TR Hx I MH 15402, & |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 73 Question Id : 40503611828 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

X
Let f(x) = I-[;—|, for —10 < x <10, where

[t] denotes the greatest integer function.
Then the number of points of discontinuity

of fisequal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 73 Question Id : 40503611828 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

X e e

7 f(x) = l[;] 10 < x < 10, ¥ @I [t]
Hewd YU %o €, 91 f F STHad g &
e

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 to 5.002

Question Number : 74 Question Id : 40503611829 Question Type : SA Display Question N g oLes o
Correct Marks : 4 Wrong Marks : 0 e e



If the line, 2x—y+3=0 is at a distance

1 2
—= and = from the lines 4x —-2y+a=
\E d u’gf he 1 4dx —2y 0

and 6x —3y +pB=0, respectively, then the

sum of all possible values of « and f is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611829 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ifg T 2x — y+3=0, TS 4x — 2y +a=0

§ e B
qdl 6x—3y+p=0H WTE GEI E Edl
T W, o 991 B F T F9F 9H 1AM

[ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 75 Question Id : 40503611830 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Four fair dice are thrown independently

27 times. Then the expected number of

times, at least two dice show up a three or

a [ive, is

Response Type : Numeric gcollegedunia;
Evaluation Required For SA : Yes "
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 75 Question Id : 40503611830 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

IR FATHAG =1 Fl 27 91 =ad ®9 H
W ¥ A FH T FH 9 F | A aiE
T T HHEA Rl 9 €2

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002
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